REABAE 100 ZFERAXAMALHEBLRA
PBl BMEE AR
#8 s ERER
AFERTES oMHAHER oM FBVIRAHER 5 =F
%~ RIEAR 1 50% (HAERY)

(N.BAEAGERNEEE L4 +» MS SQL Server - MS Access - Oracle ~
Informix % # &3t LSRR AMERNREE TR MR s ?7(A) BEX
(B) MimX (C) ®@xX (D) HMK -
()2.%%F— KR/ # 512x512 2 8 K - HME4&F(pixel)sx 3 18 Bytes &y ¥
GRENTRT > BB A L EEA S Dk e ?(A) 128 Kbytes (B)
256 Kbytes (C) 512 Kbytes (D) 768 Kbytes °
()3.3 % ¥4 & % 800600 > Al BAT—REEH 256 e R - £ERS D
a7 (A) 800*600*256 bytes (B) 800*600*8 bytes (C) 800*600*16
bytes (D) 800*600 bytes -
()4. A F AR —A 2 E-F 54 B2C (Business to Customer ) X & & ? (A)
@44 ¥ (Internet Auction) (B) @i 2 T ¥ (C)#@%+7 2 (E-ticketing
) (D) 435 % Ji (E-Bookstore) o
()5 4 Windows XP ¥ » % 2B/ 4 MBATARMBE B o) K> B fT#k4E ?
(A)E# %% Windows XP B)dA%mE TR EFRAMBRRE
O R HTHE T (D)EiEH & P ayiF R BERABRR
()6.7F 7 i » 48 3% 4% #%(domain name)z 8 » 414 R E# ? A com : 238473k
Bl ¥ask Bgov: kAR Cmil: FFFEuDedu: % F M
()7.% % & 1§ #] A Internet Explorer L 483% &4} > #6.4% A a4internet Explorer§ »
B 542 # 48 4% (International Standards Organization) s 3. 46 # £ & A X,
% %3248 4% (Open System Interconnection model)##r—& ? (A)@x%
J& (Network Layer) (B)%# /& (Transport Layer) (C)/& F & (Application
Layer) (D) & #}i% & & (Data Link Layer) -
()8R ERER LEL  F—ARKRAFELHEME? (A) PC &Mk (B)
@MLH (C) #3MH (D) Mk -
()9.FolfTH R ErE ey KB M B A 4B ?
AV &4 > 2GRE > ARTGTEME  AAEARAR 2A4RE
BYA 4RI > Aot ARBHEAE ALKER > 2HRESAR
C haid > 2404 A%FHEE ARESAR 242 E
D)4 %a# > 24RE > AgEst A A%RE > ARESAK
()10 uAEf bty fm—$# 0 FRARES » ARAMEH?(A) 127 (B)
128(C) 255 (D) 256
(M AETHREAET > AHEREGARHSHGRMAME T Trl4EmH EH
2(A) M- o ae—-HE & EFHAEB) Ao —maE—R
G M —HE-FHEC) RA— AL M- HE—FTHE
(D)L — 4% F — Lt — A L de—3dk— RHE o
(M2 — ey 2 LR ER > AT TR BEEE R ?(A) iR (B)
M (C) #spseiiat (D) E#iugt -
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()13. £ TCP / IP @i R 49 R46F » T FIAF — BB BAL LR T 15 2y f0 A 4B3%
(Private Network) 4 ? (A) 10.0.0.0 / 8 (B) 172.16.0.0 / 12 (C)
192.168.0.0 / 16 (D) 198.18.0.0/ 15 -

()14.F 7B 7 s B 48 e 4 > 474 R B4k 2 (A) ydjou@pchome.com.tw % —
EHNGEFHMFEHEK - (B) hitp A e R85 E - (C) telnet TA R
3% A4k - (D) 140.268.41.15 A Eke IP iyt o

O15.FoEREAE T RREFEALZ T ?7(A) #82M#(Auxiliary Memory)
(B) #4#] % 7(Control Unit) (C) H#&# £t (D) it ¥HF% -

()16. 3 @IEH 1011 52 0101 &945 R % 0001 RIEH F R A4 7 (A)AND (B)
OR (C) XOR (D) NAND -

()17.5%8 bit %#10100101 #10110110 #%XOR EH 4 4 R 164 &~/
% : (A)EC (B)24 (C)A4 (D) 13-

()18. B XAB TA TFFAMEKXFRR? (A) AB' (B) A'+B' (C) (A'B)' (D)
(A'+BY)' -

( )19. F 57— B AADSLag 451 7 (A) EMBMEERRERE B) LART
BREEAR—2% C) B—RAAZATK/E D) REEFR

()20.01101011 Zu2ehisk Rz 8 #% > HEHRUEF BT ? (A)-103 (B)
97 (C) 107 (D) 235 -

()21.24% A 2 Bk 7 %06 B AT RE TSR NEHE:(A)0(B)-31(C)
-32 (D) -64 -

()22 @R mnt & FOREREHILS P Ak ey R A TATHEEE ?

(A) Web Server (B) Mail Server (C) Router (D) Domain Name Server

()23.— M+ £ #900A > £V EL SV RARMEBEAAGER? (A) 8 (B)9
(C)10(D) 11 -

()24 F 51474 R X WP A% L X B RERB 6 EF X 2 (AHTTP
(BHTML  (C)FTP  (D)TELNET

()25.4 OSI A 2 @ 4k + > FHATH AR BB A KT/ 2 (A) HHs
izl (B) AsASRAE (C) #EHBILAGMENNK D) B4
o B g o RIE 45 -

A~ F%28:50% (58 10%)
1.4 11011001 sk 8 4]
2. What is a constructor in object-oriented programming?

3. What is database normalization ?

4. Wirite a program using loop to sum even numbers from 0 to 100.
(B—R—AXagtami 0 £ 100)
5. Write a program to swap two numbers. (5 —#2 X, ¥/ S X #%)
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